Chandy- Lanport G obal Snapshot

al gori thmcreates a consi stent cut

« if e, > <Pjrecords its state>, then it must be true
that e. = <Pi records its state>.

* By contradiction, suppose e; 2 <Pj records its state> and
<Pi records its state> > e,

* Consider the path of app messages (through other
processes) that go from e; 2 ¢;

* Due to FIFO ordering, markers on each link in above
path will precede regular app messages

» Thus, since <Pi records its state> > e, , it must be true
that Pjreceived a marker before e,

e Thus S 1s not in the cut => contradiction
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